	[image: image9.png]The central point on the surface of the mirror is called :
(a) centre of curvature (b) focus (c) pole (d) none of the above
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General Instructions: 

(i) All questions are compulsory.

(ii) Question No. 1 to 3 in section A are very short answer type questions carrying one mark each. The questions are to be answered in one word or a sentence.

(iii)  Question No. 4 to 6 in section A are short answer type questions carrying two marks each. Their answers may not normally exceed 40 words each.

(iv) Question No. 7 and 8 in section A are also short answer type questions carrying three marks each. Their answers may not normally exceed 60 words each. 

(v)  Question No. 9 in section A is long answer type question carrying five marks 
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(vi) Questions number 10 to 14 in Section B are multiple choice questions based on practical skills. Each question is a one mark question. You are to select one most appropriate response out of the four provided to you.

SECTION A

1. Out of convex mirror and concave mirror, whose focus is situated behind the mirror?

2. [image: image2.png]


Copy the diagram to your answer book and show the image formation.
3. Name the part of human eye which is responsible for the colour of eye.
4. A thin lens has a focal length of –25 cm. What is the power of the lens? Is it convex or concave?

5. Focal length of a concave mirror and a convex lens are obtained using a red light source, what change you will observe, if the red light source is replaced by a blue light source? Give reason.
6. A person cannot read books if it is kept at a distance shorter than 40 cm. calculate the power of lens required for correction. Is it a converging or diverging lens?
7. [image: image3.png]An object is placed in front of a converging lens. A real image is formed, as shown in Fig.
The converging lens is not shown.
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Fig.
(i) Explain what is meant by a real image.

(ii) Rays of light from point A on the object form point B on the image.

copy the figand draw

1. aray to find the position of the converging lens, showing the lens as a vertical straight
line in this position,

2. aray to find the position of a principal focus of the lens, marking this position F,

3. a third possible ray from A to B.



 

8. [image: image4.png]Red light



(a) Copy the diagram to your  answer book and complete the ray diagram and mark the following 

    
(i) Angle of incidence 

     
(ii) Angle of emergence 

     
(iii) Angle of deviation

(b) Name the factors on which angle of deviation depend.

(c) What will happen if the monochromatic red light is replaced with a white light?

9. Explain  the following terms

      
(i) Tyndall Effect

      
(ii) Scattering of light

      
(iii) Dispersion of light

      
(iv) Power of Accommodation

(v) Absolute refractive index

Section B

10.  A ray of light in glass is incident on a boundary with air.
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Which path does the ray of light take when the angle of incidence i is less than the critical angle?
1. [image: image6.png]Magnification of an image produced by a given lens is given by n/n-1, where n is an integer
greater than one. The lens used is

) Convex lens and the object is kept between F and 2F.

b) Concave lens and the object is kept between F and 2F.

<) Convex lens and the object is kept between O and F.

d) Concave lens and the object is kept between O and 2F.
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11. [image: image7.png]A thin converging lens is used to produce, on a screen, a focused image of a candle.

screen

Various focused images are produced on the screen by moving the lens and the screen
backwards and forwards.

Which statement is always correct?

A The image is at the principal focus (focal point) of the lens.
B The image is bigger than the object.

C Theimage is closer to the lens than the object is.

D

The image is inverted.
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